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AAO (SSC) MOCK TEST - 08 (ANSWER KEY)

10. (A) For this transaction journal entry be passed,
Cash A/c Dr. 2730
Bad debts A/c Dr. 1450

    To Aman       4200
(Being received 65 paisa
in arrives from Aman
for Settlement)

Amount received by Aman,

4200 × 
65

100
 = 2730

Bad debts A/c = (4200–2730) = 1470
11. (B) Cash paid by the business

= 115000 × 
41

100
 = 47150

25. (D)   Opening capital = 80000
      Dravings made = (25000)
New capital brought = 15000

= 70000

Closings capital = 1,15,000
             Balance = (70000)

Profit = 45,000

93. Ed = 
Q P

Q Q





5000

20000
× 

10

2
= 1.25

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note : Whatsapp with Mock Test No. and Question No. at 705360571 for
any of the doubts. Join the group and you may also share your sugesstions

and experience of Sunday Mock Test.


